EAST POINT SCHOOL
ASSIGNMENT 26 CLASS-VIII

ENGLISH ASSIGNMENT

EXPLORERS ON ICE

Learning Outcomes

e Read and comprehend the text.

e Admire the journey of the explorers and imbibe the qualities of courage,
determination, patience and handwork.

e Answer extrapolatory and value based questions.

¢ Enhance knowledge about primitive bird “Penguins”.

THEME OF THE CHAPTER

The chapter is about an adventurous journey of Dr Edward Wilson, Apsley Cherry Garrad
and Lieutenant Henry Robertson Bowers to find three emperor penguin eggs.

TITLE OF THE CHAPTER

The title “Emperors on Ice” refers to the emperors penguins that live in Antarctic polar
region. The title also refers to the brave scientists who went to Antarctica .They struggled to
get their eggs.

REASON FOR THE EXPEDITION

At that time it was thought that the emperor penguin was one of the planet’s most primitive
birds and that the analysis of its embryos would reveal links between all birds and their
reptiles predecessors.

ROUTE MAP OF JOURNEY

e Antarctica’s Ross Island
e Base Camp — Cape Evans
e Penguin’s Rookery-Cape Crozier on Ross Island

STRUGGLE DURING EXPEDITION




e The explorers had to travel 120 kms in the freezing, pitch black battered weather to
Cape Crozier.

e They were suffering from frostbite.

e The sleep bag was frozen and they took 45 minutes to get into the sleep bag every
night.

e Emperor penguins were hard to locate and study.

e They were trapped in violent blizzard.

e The temperature was below — 60F

e Ice was moving and splitting like glass.

e Their tent and igloo roof blew away.

e They were physically injured by extreme cold winter.

e The travel claimed the life of two of the explorers.

WORST EXPEDITION OF THEIR LIFE

e The curator of the American Museum of Natural History did not recognize the
importance of eggs. He asked Cherry Garrard to take the eggs to an egg shop.

e Later it was also found that they did not add any understanding in the study of
penguin embryology.

01 Answer the following guestions

a) What did the scientists want to establish after studying the eggs?

b) What additional benefit did they expect to achieve through the journey?
c) What motivated Wilson to undertake this difficult journey?

d) What was the curator’s first reaction when he saw the eggs?

ACTIVITY

Write an article for the newspaper on the Journey Of the Explorers in the
extreme cold weather of Antarctica and the struggle they faced while getting the
three eggs of the penguins in about 100-120 words.

VIDEO LINKS

https://www.youtube.com/watch?v=PdBT670fiCQ

https://youtu.be/A6sAgH8N7C8?list=LL
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PLEASE WATCH THIS VIDEOS


https://www.youtube.com/watch?v=PdBT670fiCQ
https://youtu.be/A6sAgH8N7C8?list=LL

https://www.youtube.com/watch?v=fVEFbc73muDQ

https://www.youtube.com/watch?v=4ZCNMrTNvfg
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MATHEMATICS — Square and Square Root

Please watch these video:
https://www.youtube.com/watch?v=N3CXE7u9adA
https://www.youtube.com/watch?v=NFcOa-DBJj0

Learning Outcomes:

i Students will understand the concept of square root.
ii. Students will be able to find the square root of a number through repeated subtraction and through prime
factorization method.

Square Roots

Square root is the inverse operation of square. Positive square root of a number is denoted by the symbol N

The square root of a number ‘a’ is that number which when multiplied by itself gives that number ‘a’ as product.
Thus, if b is the square root of a;

thenbxb=aorb’=a

Symbolically, we write b =Va

Note: b=va © b’=a

i.e., bis the square root of a if and only if a is the square of b.

For example, 3% = 9 gives V9 = 3

Square Roots

The Square Root of a number is the
number you can multiply by itself to
give you that number.

Thus, \/Z = 2, because 22=4

i \/9 = 3, because 32=9

V64 = 8, because 82=64
V144 = 12, because 122=144
V1 =1, because 12=1
0 =0, because 02= 0

Finding square root through repeated subtraction

We subtract successive odd number starting from 1 from the given square number till we get zero. The number of times,
we have to make subtractions, is called the square root of the given square number.

Consider V81. Then,


https://www.youtube.com/watch?v=N3CXE7u9adA
https://www.youtube.com/watch?v=NFcOa-DBJj0

(i)81—1=80(ii)80—-3 =77 (iii) 77-5=72(iv) 72-7 =65

(v) 65—9 =56 (vi) 56 — 11 = 45 (vii) 45 — 13 = 32 (viii) 32 -15=17

(ix)17-17=0

From 81 we have subtracted successive odd numbers starting from 1 and obtained 0 at 9th step.
Therefore V81 =9,

Finding square root through prime factorization

We find the prime factors of the given perfect square and arrange in pairs. Then, we choose one factor from each pair
and multiply together. The product thus obtained gives the required square root.
Note: A square number has complete pairs of its prime factors.

Example: Find the square root of 324.

Solution:

324

162

81

27

9

WlwlwlwlNn|n

3

1

We know that the prime factorisation of 324 is
324=2x2x3x3x3x3

By pairing the prime factors, we get
324=2x2x3x3x3x3=2"%x3"x3"=(2x3x3)°
So,V324=2x3x3=18

Example: Find the smallest square number which is divisible by each of the numbers 6, 9 and 15.
Solution: First find the smallest common multiple and then find the square number needed. The least number divisible
by each one of 6, 9 and 15 is their LCM. The LCM of 6,9 and 15is 2 x 3 x 3 x 5=90.

2

3
3
5

6,9, 15

3,9, 15
1,3,5

1,1,5

1,1,1

Prime factorisation of 90is 90 =2 x 3 x 3 x 5.
We see that prime factors 2 and 5 are not in pairs. Therefore 90 is not a perfect square.
In order to get a perfect square, each factor of 90 must be paired. So we need to make pairs of 2 and 5. Therefore, 90

should be multiplied by 2 x 5, i.e., 10.



Hence, the required square number is 90 x 10 = 900.

Solve the following Questions:

Q-1) V5625 =7
a. 55
b. 65
c. 75
d. 85

Q-2) What could be the possible ‘one’s’ digits of the square root of 98017

a. 4dorb
b. 2o0r8
c. lor9
d. 3or7
Q-3) is the inverse operation of square.
a. Cube root
b. Square root
c. Perfect square
d. None of these

Q-4) What could be the possible “one’s digit” of the square root of 625?

o O T o
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Q-5) By which smallest number 90 must be multiplied so as to make it a perfect square?

Q-6) Which is the smallest square number that is divisible by each of the number 4, 9 and 10?
Q-7) Find the square root of 121 by repeated subtraction method.

Q-8) Find the square root of 9216 by Prime Factorisation method.

Activity :

Observe the following pattern and find the missing numbers;

1’= 1

11°= 121
111%= 12321
1111°= 1234321

1111%= 1 5 1



Write the square of 1111111 using above pattern.

Q-1) In a school, students of class VIII collected 9216 to give a donation to an NGO working for the education of poor
children. If each student donated as many rupees as the number of students in class VIII. Find the number of students in
class VIII.

Why should we donate money for the education of poor children? What values are being promoted?

SUBJECT -SCIENCE
CHAPTER- COMBUTION AND FLAM
Objective /Learning outcome-Students will know the different types of fuel. They will use fuel judicially.

LINK-https://youtu.be/YheB51LPg44

Q1.Good fuels have

(a) low ignition temperature and high calorific value.
(b) low ignition temperature and low calorific value.
(c) high ignition temperature and high calorific value.
(d) high ignition temperature and low calorific value.

ANS-(a) low ignition temperature and high calorific value.
Good fuels should have low ignition temperature (the lowest temperature at which a substance
catches fire) and high calorific value (produce a large quantity of heat).

Q2.Calorific value of a fuel is the heat energy produced when
(a) any amount of the fuel is completely burnt.

(b) one kilogram of the fuel is completely burnt.

(c) one milligram of the fuel is completely burnt.

(d) hundred grams of the fuel are completely burnt.

ANS-(b) one kilogram of the fuel is completely burnt.

The amount of heat energy produced on complete combustion of 1 kg of a fuel is called its calorific
value.The calorific value of a fuel is expressed in kilojoule per kg (kJ/kg)

Q3.Which poisonous gas is formed as a result of incomplete combustion?
(a) coal gas

(b) carbon monoxide

(c) carbon dioxide

(d) nitrogen oxide



ANS-(b) carbon monoxide

Incomplete combustion of fuels produces carbon monoxide gas. It is dangerous to burn coal in a closed
room because it produces carbon monoxide gas, which can kill persons sleeping in that room.

Q4.Acid rain can be caused by the burning of
(a) petrol.

(b) CNG.

(c) diesel.

(d) coal.

ANS-(d) coal

Sulphur is found as a trace element in coal. When coal is burnt, sulphur combines with oxygen to form
sulphur dioxide (SO,). SO, does not react with most chemicals found in the atmosphere and can travel
long distances. Further, it reacts with water vapors in the atmosphere and causes acid rains

Q 5-To extinguish a flame, which of these methods can be used?
(a) reduce temperature to below ignition temperature

(b) remove combustible substance

(c) cut off air supply

(d) any one of these

ANS-(d) any one of these

Job of a fire extinguisher is to cut off the supply of air, or to bring down the temperature of the fuel, or
both. In some cases, a flame can also be extinguished by just removing the combustible substance

Q6.The hottest zone of a candle flame is
(a) non-luminous zone.

(b) luminous zone.

(c) dark zone.

(d) blue zone at the base of the wick.

ANS-(a) non-luminous zone.

Non-luminous zone is a zone of complete combustion. It is the outermost and the hottest zone of the
flame with plenty of oxygen available from the surrounding atmospheric air.

Q 7-Which of these is a solid pollutant?
(a) SPM

(b) carbon monoxide

(c) nitrogen oxides

(d) sulphur dioxide

ANS-(a) SPM

Suspended Particulate Matter (SPM) consists of mist, dust, fumes and smoke. Common chemicals that



constitute SPM are nickel, arsenic and lead. When these particles are inhaled, they tend to accumulate in
the lungs and cause respiratory problems and damage the lungs.

Q 8-Which of these fuels has the highest calorific value?
(a) CNG

(b) coal

(c) hydrogen

(d) petrol

ANS-(c) hydrogen

Q 9-What is the process of burning of substances with the evolution of heat and light called?

ANS-The process of burning of substances with the evolution of heat and light is called combustion.

ACTIVITY-To show that metal conducts heat.

Velue based question-Why should we use CNG vehicles instead of diesel or petrol vehicles?

GEOGRAPHY
CHAPTER 4:AGRICULTURE STUDY MATERIAL

LEARNING OUTCOMES: Sudents will be able to know about various activities, different
types of cultivation and inputs required in agriculture, various operations performed in
agriculture and output of farming.

Points to remember:

o Economic activities are of three types: (i) Primary Activities, (ii) Secondary Activities, (iii) Tertiary
Activities.

« Primary activities are those activities which are connected with extraction and production of
natural resources, for example, agriculture, fishing, etc.

e Secondary activities are concerned with the processing of natural resources to manufacturing
products like baking of bread, weaving of cloth, etc.

« Tertiary activities provide services like transport, trade banking, insurance, advertising, etc.

o Agriculture is a primary activity which include growing crops, fruits, vegetables, flowers and
rearing of livestock.

o 50% of persons in the world are engaged in agricultural activity.

o 2/3 of India’s population is still dependent on agriculture.



e Favourable topography of soil and climate are vital for agricultural activity. The land on which
the crops are grown is known as arable land.

Various types of cultures:

1. Agriculture: raising crops and rearing livestock

Sericulture: rearing of silk worms and silk production

Pisciculture: Breeding of fish

2
3
4. Viticulture: Cultivation of grapes
5

Horticulture: Growing of vegetables, flowers and fruits

Farm System:

1. Agriculture or farming is a system in which seeds, fertilizers, machinery, and labour are

important inputs.

2. Ploughing, sowing, irrigation, weeding, and harvesting are some of the operations.
3. The outputs from the system include crops, dairy, wool and poultry products.
4. Farming includes the rearing of crops as well as animals.
5. Farming removes the concern of farmers of bad crops and crop loss as well.
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VIDEO LINK

https://youtu.be/W21Toek-8Is

https://youtu.be/9UtW8KPbY-0



https://youtu.be/W21Toek-8Is
https://youtu.be/9UtW8KPbY-0

ASSIGNMENT

McQ

1. What is cultivation of grapes called’?
(a) Sericulture

(b) Viticulture

(c) Floriculture

(d) Horiculture

2. The important inputs like seeds, fertilisers, machinery etc form a system called as?
(a) Barter system

(b) Water system

(c) Farm system

(d) All of these

3. Which Of the following are primary activities?
(a) Agriculture

(b) Mining

(c) Fishing

(d) All of these

4. - Around ___ of Indian population depends on agriculture.
A) 2/3
B) 1/5
C) 4/5
D) 1/3

5. Arable land is

A) land where crops are grown.

B) land where trees are cut.

C) land which is cleared for agriculture
D) land where mining takes place

6. Which of the following physical input is required in agriculture?
A) labour

B) slope

C) rainfall

D) Sunlight.

7. An example of tertiary activity is
A) Advertising

B) Hunting

C) Agriculture

D) fishing

8.- Fishing is an example of
A) Primary activity

B) Secondary activity

C) Tertiary activity

D) Agriculture activity



9. The word ‘agriculture’ has been derived from Latin word
A) ageri

B) ager

C) agri

D) agar

10- Growing flowers are identified under
A) Horticulture

B) Pisciculture

C) Sericulture

D) Viticulture

[I. SHORT ANSWER TYPE QUESTIONS
1.Define agriculture.

2. Distinguish between primary and tertiary activities.
3. What is meant by arable land?

4. How was the word agriculture coined?

[1ll. LONG ANSWER TYPE QUESTIONS
1.Explain the farm system.

2. What are the different kinds of cultivation?

Activity: Find out the difference between the life style of farmers in the USA AND India on the
basis of pictures collected from magazines ,books,newspapers etc.

Subject-civics
Sub teacher-Poonam Pathak

Topic:- Chapter 4 - Understanding Our Criminal Justice System
Sub Topic :- Criminal Justice System

Learning Objectives:- To make Students aware about the Judiciary System and division of Laws
Methodology:-PPT, Video and word file

You tube link:-https://youtu.be/Gr8- uShMIE



https://youtu.be/Gr8-_uShMlE

Activity 1:- Find out about the level of the courts in India

Understanding Our Criminal Justice System

Criminal justice is the system of practices and institutions of governments
directed at upholding social control, deterring and mitigating crime, or
sanctioning those who violate rlaws with criminal penalties and rehabilitation
efforts.

There are four people who play a key role in our criminal justice system. They
are- Police, Public Prosecutor, the defence lawyer, and the Judge.

According to the Constitution, every individual charged of a crime has to be
given a fair trial.

Key terms :-

Witness: It refers to the person who is called upon in court to give a first-hand account of what he/she has seen,
heard or knows.

Detention: It refers to the situation when the police forcibly keeps someone in custody.

Offence: Any act that is defined by the law as a crime.

Investigation: It refers to an official examination of the facts about a crime.

Memo: It refers to an official note.

Cognizable: It refers to an offence for which the police may arrest a person without the court’s permission.

Cross-examine: To question the witness carefully who has already been examined by the opposite side to
determine the truth of his/her testimony.

Evidence: It refers to the facts or signs that make you believe that something is true.

Confession: Acceptance of an offence.



Assignments:
1. Describe the criminal justice system in India?
2. State four key players in criminal justice system.
3. Define:-
a. Detention
. Cognizable

b
c. Cross-examine
d. Offence

e

. Detention
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